
SECTION II  TM 55-2210-224-24P

Figure 77.  Radiator.



SECTION II TM 55-2210-224-24P

GROUP 15 COOLING SYSTEM

FIG. 77 RADIATOR

1 96906 MS51967-09 NUT, 3/8 4
2 96906 MS27183-14 WASHER, LOCK, 3/8 4
3 96906 MS90725-62 SCREW, HEX HEAD, 3/8 X 1 1/4 8
4 96906 MS27183-14 WASHER, FLAT, 3/8 4
5 65072 CN063259 RADIATOR 1
6 65072 SHROUD, FAN 1
7 65072 GUARD, CORE 1
8 65072 TANK, HEADER BOTTOM 1
9 65072 GASKET, TANK (NSN 5330-796-4335) 2

10 65072 BARS, HEADER SHORT 4
11 65072 BARS, HEADER LONG 4
12 65072 TANK, HEADER TOP 1
13 65072 CAP, RADIATOR 1
14 65072 CORE, RADIATOR 1

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

77-1


